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Surbhi Sinha 19 hours ago E\/

43:27,, option Aaa ,, thank you sir ¢ mere maths k doubt clear krne k Liye ,, or aab adat ho tha h
without pen k ,, or concept bhi Thoda clear ho rha h
Sneha Dey 18 hours ago Mohit.. 19 hours ago .
) o ) _ A Thank-you zsir for this Magical Class Session of today.. o, =
Sir word problem topic wise leke aayenge toh accha hoga sir concept clear ho jayega accha se... et
Ansis 43:27.. My Answer for today's Homework is-
Thank you sir... Option A== 43 : 27
Logic is-
_ 3:4 _.*4=12:16
Nitu Maurya 12 hours ago Simran Chauhan & hours ago 50 %3 =15:27.
Ans 43:27. Homework answer is Option A- 43:27

Awesome session sir. Thank you sir ~ 0

Awesome Session Sir hank-you So Much, Sir Ji.. & ..,

o Tanisha p 13 hours ago Rajat Sahu 2 hours ago
Thanku sir nice session , J du du ‘ Thank you so much sir awesome class
HW-—43:27 Hw ans - 43:27
. Atigya Garg 9 hours ago Niharika Jha 19 hours ago
Thank you sir ji = Thank you sir for the session sir & ¢ homework answer: option A ~ 43:27

Homework ans is : 43:27

@ Rimpa Das 19 hours ago ) Vitamifi_protéénfriissia 2alé}__ru 13 hours ago o laxmipriya das 18 hours ago
43:27 é 4327 A A HW ANS:43:27




Efficiency

1
Time



If the efficiency of A is Four times of B. if they both can do this work in 20 @
days then find in how many days A alone complete the work?

A A 1 FHRIFIAAT B € AR THT 2] Afe o ST 36 i ohi 20 o1 § T TR &, A1 J1d TS

foh A 3okt 38 1 ol fehe ol | qur shirmr?

a) 20
b) 15
c) 25
d) 30
e) NOT




If the efficiency of A is 70% more than B and if they both complete the work @
in 85 days then find in how many days A alone complete the work?

afe A I 3T B © 70% AT & AR Ala o ST 3 ol 85 ToT H I 3 &, AT 14 shilSTg

foh A 3okt STl i Teh TadT # 91 ham?

a) 125
b) 135
c) 140
d) 95




A is 30% more efficient than B. How much time will they, working together, @
take to complete a job which A alone could have done in 69 days?

A, B ¥ 30% 3ATe1h 31T 2| o Teoh AT 3hTH shid BT, Th sh1d shl U hid H fohe T & o1
TS A 3TehetT 69 TaHT H 9T T Eehell T2

5

a) 69
b) CND
c) 46
d) 39
e) NOT




If A, B and C can complete a work in 6 days. If A can work twice faster than B and @
thrice faster than C, then the number of days C alone can complete the work is?

afd A, B 3R C Toret i i 6 fodl § 900 L Hehd & Afa A, B 8 ST TR C ¥ ol TH1 ot i o
el &, A C 3Tkt o farti H Tl O oht Fehel 22

a) 22
b) 12
c) 33
d) 32
e) NOT




If A is five times efficient than B and take 60 days less to do a work then find
in how many days A alone complete this work?

A A, B U T 27 & I Rl Sl ol 3 | 60 TG 3 I &, T I shi SIS, [k A
3fohcd 39 A Rl fohe fodt 97 shamm?

a) 60
b) 75
c) 15
d) 45
e) NOT




If A is three times efficient than B and take 48 days less to do a work then find in @
how many days B alone complete this work?

afd A, B I THT 1< & I forelt sl <l 3t H 48 & shH oIl ©, A1 JTd ShiTSTC foh B 3Tehcd
59 T 2! feha TaaT | I hamr?

a) 24
b) 48
c) 96
d) 72
e) NOT




If A take 60% more time than A and B work together. If B is 4 times efficient @
than C. If A and C together complete this work in 48 days then in how many
days B alone complete the work?

At A, A R B 3 TATH 60% 3ATEreh T0F AT &, AT Ueh ATY ¥ hid &1 AE B, C
Y TET W 4 AT HITeA Bl A A IR C FHreTet 38 el ot 48 TG § e &, a1 B
3Rt T ohl foha ToHTT W OxT shtaT 82

a) 48
b) 36
c) 72
d) 90
e) NOT




To do a certain work, B would take time four times time as A and C work @
together while C thrice time as A and B together. The three men together complete

the work in 22 days. The time taken by A to complete the work separately is?

T (T2 STl &l S & ToT, B T A 3T C o Ueh €T &hTH &l § IR THT 80T R
TR C, A 3R B & &Y § Ueh AT T AT THIA S A1 60 FHeTeRt el ol 22 fEi ®
U7 Al &1 A BT ST SRl SO § O SRt § Totam T ewe 3 52

a) 30
b) 40
c) 50
d) 60
e) NOT




If A and B together take 80% time of the C to do a work while B and C together @
take 40 % time of the A to do same work. If they together complete the job in 68 |
days then in how many days B alone complete the work?

i A 3T B Ueh TTY T T bl hid h (7T C T 80% THT & & s B 3R C fureremt

T T T h T7T A T 40% THIT A | ATS o TRt 1 ol 68 o1 H X0 el &, Al

B 3Tehet Shrdl oht feha ToaT H 01 e 82

a) 242

b) 252

c) 126

d) 256

e) NOT




If A and B together take 40% time of the A to do a work while B and C together @
take 60 % time of the C to do same work. If they together complete the job in 12 |
days then in how many days B alone complete the work?

IfE A 3T B Uk UTY Ueh hT hl HI o oTT A T 40% THT & & Ttk B 3R C e
T T T 6 11T C T 60% THT 1 | Afe o Frerens i oht 12 o1 & axr o &,
B 3Tohel ST o Teha ToHT W UXT hYaT 82

a) 38
b) 57
c) 36
d) 42
e) NOT




If A alone take half the time to do a work than B and C work together. If B is @
four times efficient than C and A alone would take 48 days to do a work then |
in how many days B can complete the work?

i A 3Tehet et ST SRl vt § AT THT dT 8, a7 B 3T’ C Teh TTY h1d &l 2
At B, C & IR AT HITE § 3R A 3Tehed Uh T i i § 48 1o &7, a1 B 61 i
feRa ot o o St ErehaT 87

a) 60
b) 90
c) 120
d) 240
e) NOT




A does half as much work as B in 3/4" of the time. If together they take 10 @
days to complete a work, how much time shall A take to do it alone?

A, B € ITTT I 3/4 THI | AT gl AfS o Teh AT Teh 1Al T HAH 10 T3

d 8, al A TH 3Tohct i H Teha T THT 1712

a) 15
b) 20
c) 25
d) 35
e) NOT




If A and B together complete the work in 5 days. If A work twice and B work @
1/3 of their efficiency respectively, then same work will be done in 3 days then |

find in how many days B alone complete the work?

afd A 3R B THeTeRt 3 s 5 T H 90 3L 8| Afd A 31 ST T hidT & SN B SHAST: 3
T&IAT T 1/3 Sh hldl &, I GHH i 3 Tt | forar strom, ar 3ma hifsie for B 31enct vl <l

feper Ferf & s

a) 15
b) 20
c) 25
d) 30
e) NOT




A complete half as much work as B in equal time. C complete half as much work @
as A and B together in equal time. If C alone can complete the work in 40 days. |

Then in how many days they all together complete the work ?
A, B ¥ 3T HTH SIS §HI H I AT ol C, A 3R B =l T H ST hiH Th W1 GH 97T §

9 AT 81 AfE C 37het S Rl 40 Te1 5 90 X Tohelt 21 A1 o Tt Torerent shmed ot fora ot 6 o
d &7

a) 60
b) 120
c) 40
d) 80
e) NOT




